K1 "7 ' R,20 "2 7"02

— 50 9393 17507 BRI AR
And PRnw said the 71597 is like “o1 '

OVERVIEW

01 "M ruled that if a worker is hired to work in a field (even) as a
sharecropper, his child is permitted to gather the gleanings. ?Xmw endorsed
this view of "0 "3. The X3 concluded ([at least] according to &70r 27) that
the reason the child may gather the vp% is because 7211 7127 WKW Wwy. It is
considered (because of a o°nari nipn) as if the child acquires the vp% for
himself. NN seeks to reconcile the view of PXnw here, where he endorses
the view of "01” "1 (and therefore the concept of 712112 7217 1XYW WwY), with the
view of PR elsewhere.

nooIN asks:
— (NS DNNND NPT BYI N, 97 Ppu) VNN 99 799237 "IN

It is astounding; for in ©77 92 P95 we see that -
- PIIND MNPINY INIIY Sy¥a NY

bR did not want to establish the 73w there regarding the case -
— 20y %395 (119500 109 W91 HPNY] MDA NN JA9N NN MY 790N

Of one who lends money to the 375 and " in order to separate the NN
mwym from their share; >Xmw did not want to explain that mwn

according to >01° ', His reason there is -
— M5 NOYN PO NXINY 1MIPIN Y INTNIDT

Because we do not establish a 71wn according to the view of an
individual (indicating that X is in disagreement’ with *"3 [and that Wy
770312 17917 1°KXWw]), but here in our X123 we see that »Xw rules that the 775557
is according to " (that 713 7917 XYW Wy?!

! The X" lends a sum of money to the 3715 (or the »1%), and they agree that the 372 need not repay him
directly, but when the 2x%2 will be required to separate 770 (or Twyn) and give it to a 375 (or M), the
Sxw* will instead keep the 72170 for himself and deduct the value of the 7270 from the amount which the
1712 owes him. The difficulty with this is that the YX7w> was never 0>pn the m¥» of giving 72170 to the 175.
SX1Mw answers there that indeed he was 7131 the 7170 to the 172 through another person (and then he ‘takes
back’ the 7170 as payment for his loan). See following footnote # 2.

% X9 answered there that the 71wn follows the view of *"1 who maintains 7121 721 11R@ WY, so by 721N
also the om>dn (for the benefit of the 77> that he should be able to borrow money) consider that the 775 was
79%7 in the 72170 (so the YR was 0»pn the 71°n1 2vn) and he ‘returns’ it to the YR W for his debt.

3 If Jwnw agrees with *" why did he not accept the answer of X9 that the 7wn is in accordance with the
view of *"1, but rather X insisted on giving a different answer.
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N1B0IN answers:
— 119NN PIO VPY Y3 NN NPYTT 99 YN

And one can say; that only specifically here regarding vp® does 7xmw

rule like 5''9 (that 73112 707 11X WY)-
— 9919 979 NN 1191 DY NNINDNT NHYD ININ

For this very reason which the X3 mentions here that it is presumed that

the poor people themselves are happy with this enactment, etc. however
there by 121 myn w1917 this reason does not alpply.4

Moo responds to an anticipated question’:
— D19 Y395 (ow) VIN U P92 NPINT NN

And that which X71v established the 73wn in vam 9 pap like 01 ' -
— (YUY HNNRN N7 W N,NY 97 M) Y099 92y NPITN P99 YD) %29 139N

This is referring to %0y ' of 179217 Hw 17D 2 7P o -
— 7010 11 109 )13 192 199990V Y AaNT

Who states there that whoever has an exchange in the possession of a 372

is exempt from giving the 175 the nun® of 72°p o> v
— NI NIINHIRY NN VYT DIVN NI NNRYO V991

And the X9n3 explains that the reason of "o '3 is because RW NN WY

721D 71O -
— DIV 132707 )N 122 19590 NAT MY MINNT NIIT M1

Which that case of 375 7°2 11 is similar to the case of my» mbnn

* Regarding vpY if the 0mon would not institute the enactment of 71217 7% PXW Wy then the hired o»w
would lose out on the opportunity of having their children glean after them. However by 0°375 even if the
2o would not make this enactment (of 7121712 71217 1°Rw WwY) the 0°3715 will still be able to borrow (albeit it
may be more inconvenient, for the %7 would have to give them the 77N and then take it back
physically). See ‘Thinking it over’.

> How could X7 maintain that the 73wn of 121 nyn Mn7 is according to >3 if X9 is referring to *" of vpY,
the two cases are not similar as NM90I1N pointed out. See X"w7in (who adds) that it appears from the X3 in
w3 that XMW would have established the mawn like °01° "1 were it not for 1P X2 *X7°7°3, but how could it
go according to "0 " when n1901n here clearly differentiates between the two cases.

® The ruling of >"1 is (actually) on 2,7 and 2,7.

" The case there is if there are two animals, one is a 1191 and the other is not and we do not know which is
the M3, the rule is that the 375 takes one and the other remains by the X2 (and he may eat it when it
receives a 01n); and (according to *01 ') the PXW" is not required to give to the 3733 the 7175 NNy (which is
the 72°p1 o»n? ¥171) of the animal which the 28" retains (which normally a 9% is obligated to give to
the 7173). "1 explains that since 175 7°2 12°%1 (the 372 took an exchange, one of the two animals), we
therefore consider as if the 175 actually took the animal (which the 9%7%° now possesses) and gave it to the
5% " in exchange for the animal which the 3775 now possesses. The rule is if a 172 sells a 7122 to a PXw” it is
M5 from 71172 NMInK. And even though the 175 did not actually take this animal and exchange it with the
S8, nevertheless we say 72173 7 WKW WY; it is as if the 175 was 797 in the s">X7W° animal and then gave
it to the X" in exchange for the animal the 3713 has now.
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because these nw» are the 3715 793 1991 -
— 98Y TYUYNA N9T ITINI UM

And the 2°non made it as if he was 172 in the "2y» itself and then transferred
it back to the 58w,

mooIn responds to an additional anticipated question:
— 49N 29 NIN 1999 KDY 57119992247 22 Y N ANTING 7YY Y9PT NN

And that which X refers to °"1 as a 78797, even though in n17152 'on
(from where X7 derives the ruling of " regarding 127> 7237 WKRWY) it is

only %'"% who argues with "1 concerning the 7173 minn, so why is > referred to as
a IR by R0w)?!

mooin replies:
SN 2) ONN NDY 29997 19Y DD VPV 23X KON NIVY VYT 1929 DIPNI Yo

Nevertheless (even though in n1732 'on only n"7 disagrees with °"'9) the 3129
here who argue with >"1 regarding vp» and maintain that we do not say
72D 793 RW WY (even though there is the reason of W% KPP 1777913 D7),

so certainly these 7127 argue with °"1 there regarding 717> nun» (where
there is no such compelling reason). That is why 9xww referred to the ruling of °"1 as a
aRT.

SUMMARY

XMW maintains that we say 772179 77237 KW Wy only by vp? for there is the
sufficient reason of 7% Xr°1 17791 0°1v; however elsewhere PR does not
agree with "0 "1 that we say 72172 7217 11RW WY,

THINKING IT OVER

mooin distinguishes between our case of vp? (where there is ample reason to
say 112312 197 RY W) and the case of 177077 NX Nyn MY (where there is not
sufficient reason to say 7212 7197 10X Wwy).” Why did the X713 have to say in
1°wa that XMW does not establish the case of myn Mo like "0 " because
1M1 RY R7M°; the X3 could have simply said, because the case of M1
nwn is not comparable to the case of vpP5?!

¥ Therefore X7 can explain the mawn of nMy»n mMA according to ™" because these two case are similar.
However 28w will not agree to the ruling of >3 regarding 1102 and regarding wy»; he only agrees with
" regarding vp? where the reason of 177 Rr1°1 17791 01w applies.

? See footnote # 4.
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